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5. Letg(x)=x*-50x* + 49x
a. What are the roots of g(x)?
b. Sketch a graph of g(x). Label roots and y-intercept.
c. Filf in the following table
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0 1

0 -1

0 0.1

0 0.01

0 0.001

d:. What is the instantaneous rate of change at x=07?
e. Draw the tangent line at x=0
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1. Letp() = Sperrs andqi = SR () :éN@ 9“? <2)
a, Find and simplify p(x) + q(x) ¢ é{- «I—C?/YNL{)
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What is the domain and range of p(x) + q(x)?
What is the end behavior (both directions) of p(x) + q(X)?  p{xd 1L y( 2
F( ? &%}_H,gyxz*&)

What are the roots of p(x) + q(x)? 7 .
What are the holes of p(x) + q(x)? XZ'H_ X 25 (X + 3)0( - ){(Z“f'z 5)
\é\o’khat are the asymptotes of p(ﬁ() + q(x)* )@40{ x‘t,fz_g '/' Xz +¢I { )(2«}2257
etch a graph of p(x) + q(x). J{‘_ l 6 2 225 i o
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